==
N & o & AF & H A A
20169 = 20l & LB A=t
EM: AZXY N
FM: HsdE 84
ol AREHS S4 CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AT YD 11,059,276 9,099,065 1,960,211
Xl 1,570,000
J| 166,082
< 1,197,514
Al 8,125,680
HE4td s4 10,946,445 8,989,062 1,957,383
X 1,570,000
J| 166,082
< 1,197,514
Al 8,012,849
delEXNE s4 2,815,081 2,926,371 A 111,290
2R H3 st 4,700 4,700 0
201 2et24d] 4,000 4,000 0
03 A2 Z Hl 4,000 4,000 0
O&satrst 4,000
301 gt 4= 700 700 0
09 SALAHIEA S 700 700 0
O&stssEx=:L 24 700
NIAAZIGCA 4 26,776 26,776 0
201 LBt2E| 6,000 6,000 0
03 A2 Z Hl 6,000 6,000 0
OAZE A3 & & 2 MU 6,000
202 odl 7,776 7,776 0
01 = LH o4 1l 7,776 7,776 0
OAE=I|E A2E7
81,000& = 3% * 22 x 163 7,776
203 YR =&l 10,000 10,000 0
03 A FXH S Z=AY| 10,000 10,000 0
Od&d=2 & EH9 MUz KX 10,000
307 gl2tol & 3,000 3,000 0
01 =L =4l 3,000 3,000 0
OMsSEANE 245 7 3,000
Zoie Msg4dst 2,400 2,400 0
301 L2 A= 2,400 2,400 0
09 HALAHIE& S 2,400 2,400 0
O&ofel d/EMSUE =Dt 1,200
OFHe MEXH=CHE It 1,200
EHEHAINE2SEIIR2E 330,000 0 330,000
301 gt d= 330,000 0 330,000
o= - 2S2S243 330,000 0 330,000
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15,000
15,000
132,000
6,650
13,200
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5,400
6,000
20,000
55,000
8,750
3,000
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150,000
160,000
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4,321,000
2,688,000
2,688,000& = 30% * 2
51,852,000
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2N AT
FM: HsdE 84
el WRAEHS K4 (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 3,000 6,000 23,000
09 HALAHIEA S 3,000 6,000 A 3,000
OASHEU UAAMNRSLA 24 3,000
d= 2 T e EMEUHE 24,000 24,000 0
307 eIzl & 24,000 24,000 0
04 QIZFHALAIH E = 24,000 24,000 0
OdeIEMSEUZ &It 24,000
aYEIE A2Eelllts 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OaLEIGE AZEellta M=l 10,000
AL EXME 48 N 404,640 452,140 AA47,500
307 21201 A 404,640 452,140 A 47,500
02 IZtE S AIHE L 404,640 452,140 AA4T7,500
OHM45sl 8=2AEMAE X 30,000
OXM=& EHl 374,640
oMsXNE A elAbl 327,640
oSHE#H XA 10,000
oXMXEBRH XA 4,000
cdelEXNEUHE A L iz N 8,000
ocZJIAE XN ¥ 28 & 10,000
ocxd3= NEX X3 10,000
o M97el 8=M=sU= FHot X 5,000
EHEMAHEE &= 0 S =20 153,000 153,000 0
307 21201 A 153,000 153,000 0
04 DIZHHALALSE E X 153,000 153,000 0
OXNB8sl EHeAE =2 0 =10 IS OH
z 153,000
EHEAIEDl S 200 S2&U3 13,000 13,000 0
307 21201 A 13,000 13,000 0
04 QIZFHALAIH B = 13,000 13,000 0
OHMI172 EHHMAIED S 0 2 U3 JHE 13,000
EHERALD] M= Sg HE=SUal 164,000 164,000 0
307 21201 A 164,000 164,000 0
04 DIZHHALALSE E X 164,000 164,000 0
OM133 Efat)] 8= Sg HE=SHE A 164,000
EHEHAH M= S0 S&4FJ| d=3 U3 166,000 166,000 0
307 glz2tol & 166,000 166,000 0




2N AT
FM: HsdE 84
el WRAEHS K4 (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
04 DI2HHALALSE E X 166,000 166,000 0
OM143 BRI &M= S S43)| d+2
thal 166,000
d= FH s WA 362,000 362,000 0
307 glz2tol & 362,000 362,000 0
04 DIZHHALALSE E X 362,000 362,000 0
OHM47al 8= = ers7 HUA IHal 362,000
EHERARD] =2 S0 23 55,000 53,000 2,000
307 glz2tol & 55,000 53,000 2,000
04 QIZFHALAIH E = 55,000 53,000 2,000
OHM123] EHAD] M3 S0 23 WA 55,000
FHHSAZFREFAI =2 B0 =10 HAZUE 266,000 266,000 0
307 21201 A 266,000 266,000 0
04 QIZFHALAIH B = 266,000 266,000 0
OHMZ273 222 2)| 85 0 51
EH S CHEl JH=l 266,000
SOLAIOL & ER0HE 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
04 QIZFHALAIH E = 100,000 0 100,000
OHM23l SOtAIOH 26 Et=E32U3 100,000
EHE Dl SR U3 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 QIZFHALAIH B = 50,000 0 50,000
OH®3I| =703 50,000
stud=g4ds A& 411,210 572,553 A 161,343
307 21201 A 85,210 0 85,210
02 IZtE S AIHE L 85,210 0 85,210
OZdacadMNsUHE & sStuHsE435 75,210
Ostngxnes N3 10,000
308 XX EHHSOIA 326,000 572,553 A 246,553
08 uFJ|20UstE=x 326,000 572,553 A 246,553
Ogtuids 4= N& 127,000
OgtnH=s NESX elHy] 80,000
OLZ2E HIJIIEAYEX (HAM=E) 15,000
OMEAMEs HU(SEX) 4,000
OMs2 stZNL(HE4aH D) 100,000
AZXOHAE 73,924 74,924 A 1,000
AZXOAE 4 73,924 74,924 21,000




EM: AZXY N
FM: HsdE 84
Sel: ALE0IHY CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
201 Le-2d| 14,500 12,500 2,000
01 At 22l 3,000 3,000 0
OdX=gg &g 2dte M
60,000& = 500H 3,000
03 A2 Z Hl 11,500 8,000 3,500
OsEE JIEgE1Y 10,000& * 5004 5,000
OdXzgE s+ 25,0002 = 100K 2,500
O&Xedgd 4x ¢ 2SN 1,000
OMsUsa Mz € 2N 3,000
202 04l 4,536 4,536 0
01 = LHA YI 4,536 4,536 0
O&= HM=sCHH E20HHE =&
81,0003 = 143 * 2& = 29 4,536
301 L2 Az 4,888 7,888 A 3,000
09 HALAHIEA S 4,888 7,888 A 3,000
O&Xzsd 2HX 2HE 3 H = 1,000
O&= HMESCHH ES=20tAE 22t ol
81,000& = 83| * 2 » 3H 3,888
401 Al HI 2 28I 50,000 50,000 0
01 A& HI 50,000 50,000 0
Od= & THeda FI1&d Fhl 50,000
MEtX o7 HHEH 1,027,162 1,213,377 A 186,215
| 166,082
< 15,514
Al 845,566
EHEHAIEE R =3 2F XA 105,785 96,467 9,318
307 glz2+ol & 102,285 96,467 5,818
03 QIAHMHE2IHIEE 102,285 96,467 5,818
OHHHMAIME M F3 24| 78,972
SANRIHE 3,611,000& * 12& 43,332
oER 2,970,000& = 12& 35,640
O4tiEg = 7,898
CARIE 43,332,000& * 10% 4,334
oER 35,640,000& * 10% 3,564
OEXFES 6,581
SANR2E 43,332,000% * 1/12 3,611
oER 35,640,000& * 1/12 2,970
O E =l 3,949
SANRIHE 3,611,000& = 30% * 23| 2,167
oER 2,970,000& * 30% * 22| 1,782
OHHHAIME T =3 22l 4,885




S A=Y M
HEM: ALY 4
ool MBSO K CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 3,500 0 3,500
01 QIZEXIE2AIE 2 X 3,500 0 3,500
OB AIME Y S8 S ERY(SE2EH|) 3,500
ZJACUMEFUHE 2Ot 115,000 100,000 15,000
307 2izto| A 115,000 100,000 15,000
04 QIZ2tSHALALS B X 115,000 100,000 15,000
OZLJAToMEY U =t 95,000
O HOIMEd=sMa &It 20,000
MEH=IISY 6,470 6,470 0
J| 3,235
Al 3,235
307 2Iz2to| A 6,470 6,470 0
J| 3,235
Al 3,235
02 QIZIAAAIE E X 6,470 6,470 0
OMEI=s 2HXH 6,470
J| 3,235
Al 3,235
MEH A X B X 152,448 150,528 1,920
J| 73,224
Al 79,224
307 QI2t01 ™ 152,448 150,528 1,920
J| 73,224
Al 79,224
02 QI2tAAMAIE E =X 152,448 150,528 1,920
OME =X X 8 XI
2,034,000& *~ 6 x 128 146,448
J| 73,224
Al 73,224
OMEHEXN A HESIHY|
500,000& * 6 * 23| 6,000
HEd Hs2s A 152,448 150,528 1,920
J| 73,224
Al 79,224
307 2izto| A 152,448 150,528 1,920
J| 73,224
Al 79,224
02 QIZ2IA AAIE B X 152,448 150,528 1,920
OHEN H=egs N
2,034,000 * 6  12& 146,448
J| 73,224
Al 73,224
OWEA MEXNEX FESFIHH]
500,000& * 6Y * 23| 6,000




A=Y M D
Hssdd 54
MEHSOR HE oEe)
= _ — d =
A - B E9(SI) - MRAY - B e 2
dEH=s2435 39,584 38,384 1,200
201 ¢er24l 22,400 21,200 1,200
01 At22t2l bl 1,500 1,500 0
OAZ=Y M HRFZ 1,500
02 2324l 20,900 19,700 1,200
OAOIEEE s HdJI= 1,000,000& * 128 12,000
ONOIEEE S Hdot==23
200,000& * 12& 2,400
OMSAE =27 AER 5,000
OZde=xdsd =548l 300,000& ~ 53 1,500
202 44l 5,184 5,184 0
01 S LHOYI 5,184 5,184 0
OAZ=g N 2=
81,0008 = 4% » 2& » 83 5,184
203 YR =] 10,000 10,000 0
03 Al =AY R4 10,000 10,000 0
OAZ= AEHH 10,000
206 X & b 2,000 2,000 0
01 =4l 2,000 2,000 0
OMEHSFAILE 22l 2,000
MBS T2 24,000 24,000 0
< 12,000
Al 12,000
307 glz2tol & 24,000 24,000 0
S 12,000
Al 12,000
02 QIZtE A AHEE 24,000 24,000 0
Odessz]d 23XH 12,000
< 6,000
Al 6,000
Odaisna 29 12,000
=) 6,000
Al 6,000
d= 2 T MEMSUHE 70,500 70,500 0
307 21201 & 70,500 70,500 0
04 RIZFHALAIH 2 = 70,500 70,500 0
Od= ¥ THe dEdsH 50,000
OZ0e M= 5,500
onzal sotg=H 15,000
WS H2t)] ROIMBRSE 20 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000




2N AT
3 MsaY |4
ool MBSO K CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 40,000 30,000 10,000
OHM168l MELH2I =20 40,000
EHER A AATHES TS 20,000 25,000 A5,000
307 glz2tol & 20,000 25,000 A5,000
04 QIZFHALAIH B = 20,000 25,000 A5,000
OEfe &b AHAMHES CH 3 20,000
SRR AlRIAZER|D] 3l 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B & 10,000 10,000 0
OHM16al 2UHZLJX AZSeldl Hal 10,000
ANEI dEXH=CHSE 60,500 60,500 0
307 gl2tol & 60,500 60,500 0
04 DIZHHALALSE E X 60,500 60,500 0
OBHAIED S dEMSUI 60,500
AZEHSH™HAY 23,427 21,000 2,427
J| 16,399
< 3,514
Al 3,514
301 et 8= 23,427 21,000 2,427
J| 16,399
= 3,514
Al 3,514
01 MEI2ZE 05z 23,427 21,000 2,427
OAZ=2H 0/SHAS 23,427
J| 16,399
< 3,514
Al 3,514
HEIE=2Z 2D FER0USE 45,000 45,000 0
307 21201 A 45,000 45,000 0
04 QIZFHALAIH B = 45,000 45,000 0
OM153 HeINERE2I] S12UE 45,000
EHERAIEE 2R & D428 2ZE 9,000 9,000 0
307 gl2tol & 9,000 9,000 0
04 DIZHHALALSE E X 9,000 9,000 0
OHMb53 EHHAIZE 23T d42E ==ZU3 9,000
EHER A 8= =SS Q HILIATHE 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALALH 2 = 20,000 20,000 0
OM73 EHHMAHY 8= SSQ HILUANS 20,000
EHEHAMH =SSO BHEQIE S 30,000 23,000 7,000




2N AT
3 MsaY |4
ool MBSO K CER-ED
= (o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 30,000 23,000 7,000
04 DI2HHALALSE E X 30,000 23,000 7,000
OM10&! EHSHAHE 8 =SS0 HHECSIE S 30,000
EHER A =2 SsSQ SFUE 20,000 15,000 5,000
307 eIzl & 20,000 15,000 5,000
04 QIZFHALAIH E = 20,000 15,000 5,000
OM63l EHHMAH =85 =203 20,000
ZRASXAD &R0 3 25,000 0 25,000
307 21201 A 25,000 0 25,000
04 QIZFHALAIH B = 25,000 0 25,000
OHM163 ZJAZXAD &L 25,000
FAE Hsusy 29 28,000 18,000 10,000
307 21201 A 28,000 18,000 10,000
02 IZtE S AIHE L 28,000 18,000 10,000
OF7uns 2¢ 5,000
OAJlny 24 5,000
Ottsuns 29 18,000
HEed) SMENSs ZEAES2U 30,000 0 30,000
307 gl2tol & 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
OM19s ZJAETAHAEIEHI FEFUS 30,000
MSIIBtAIE xS - 2tel 7,030,278 4,774,390 2,255,888
Xl 1,570,000
< 1,182,000
Al 4,278,278
SEZIE 2922 314,072 255,298 58,774
101 @124 Hl 27,610 24,496 3,114
04 D122 2XEE S 27,610 24,496 3,114
O&Cizel 22X E= 27,610
=JIE= 48,2403 * 28 » 200 19,296
oFxsad 48,2403 * 2% x 53 5,114
o 2HALH| 3,000& = 2¥ = 200 1,200
o HE S IHHI 500,000 = 2Y « 23] 2,000
201 et 140,870 140,210 660
01 At 221l 41,470 40,810 660
OZJ&E Ale2el 29 8,000
O=%X AEZ 14,000
OFIF NE gRaesy
50,0003 = 3.39¥ = 118 19,470




2N
X ZH -
L= B

el

TR
SN 84
SIPALEA - 22

K- EH3 B (3H) - HSAY - Ba2 il HZS2
02 3524l 99,400 99,400 0
O332=2 % HA 49,100
ocHMIILS(7THA) 800,000& « 12& 9,600
oMot ER2 2,800,000& = 12& 33,600
oEHAMNEREEZ 400,000 * 23| 800
oclSX £HELE 5,000,000& * 13 5,000
o XS XAI(1TH) 100
(@)sK=3] 5,500
oZEZINE eyl 500,000& = 4& 2,000
oXtz U XCIJIH HZHI
350,000& « 10& 3,500
OA & &Hl XYl 28,000
oZEHIE ANEE S22 (9HA) 28,000
O XH &l 3,600
o3lEAad 300,000& = 12& 3,600
ORoHHIAIAE S22 =4
500,000& = 12& 6,000
OL=HXHeAd g2 4
300,000& * 204 = 128 7,200
202 04| 2,592 2,592 0
01 2LHOHI 2,592 2,592 0
OFEEINE 2el g2F&
81,000& » 2 % 22 % 83| 2,592
206 2 I 25,000 20,000 5,000
01 X2 bl 25,000 20,000 5,000
OssHIE 2922 (MU HESS) 25,000
401 Al HI L = THYI 30,000 60,000 £30,000
01 Al &bl 30,000 60,000 A 30,000
OlNIACH=AE B 30,000
405 XH&HFE SHI 88,000 8,000 80,000
01 JtatY 2 ZF SHI 88,000 8,000 80,000
OZEZIE N=dMNEE ¢ 8,000
OZHIY (A ) 20,000
OdAIE X[CO2ZAI| HBl7L 60,000
AMs2 2F 2 248,206 231,092 17,114
101 @121l 27,610 24,496 3,114
04 JI2ZtH22XNEE 27,610 24,496 3,114
O 22l 22X B4 27,610
oJlgaz 48,2403 * 29 x 200 19,296
oFsY 48,2408 * 29¥9 x 53¢ 5,114
o 2HAH| 3,000& = 2% * 200 1,200




AZ =N
Hsad 84
HSIIBALEERY - 22| (&)
SN HH-S(BN) - MBAY - B il HlnE2
o ZEFOHI 500,000& = 2% =« 23| 2,000
201 et 203,300 199,300 4,000
01 At 22l 15,000 15,000 0
OCLlEMESA AMd2ae 29 10,000
O=2sANAEZ 5,000
02 =224l 188,300 184,300 4,000
Os&E2= & HA 147,300
o®™IILIB(2MA) 7,000,000& = 12& 84,000
oMot ERZ3 500,000& = 12& 6,000
cEZAMNERE S 200,000& = 23| 400
CcHIEFAHTE 800,000& = 13l 800
ozsdI| HIIAEAME 800,000& = 13l 800
ocHMI|IHMAAZ 600,000& = 13l 600
S PSECENP= A= 20,000& * 100€ * 23| 4,000
ocYHA=EZ 800,000& = 43| 3,200
odazHI (oA ¥ e)
9,500,000& = 5& 47,500
OA & ZEHl R Xl 15,000
cHAMEZ ANE2S 22l (290 &) 15,000
ORAAHAAY SN B2l 8
500,000& = 12& 6,000
OClLEM=Es2 sZI| |SX2el 4
250,000& = 12& 3,000
OlEMs2 2] M2 24 17,000
202 odl 1,296 1,296 0
01 = LH Yl 1,296 1,296 0
ODAMSZ P2XX
81,000& = 2 * 2 * 43 1,296
206 = Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
o&dg & S, st&E4 KHTH = & 6,000
401 Al& I 28I 10,000 0 10,000
01 A& HI 10,000 0 10,000
OlNEME2 A== FLEH 94| 10,000
Jte st DXt 5,000 5,000 0
401 Al B2 2B 5,000 5,000 0
01 A& HI 5,000 5,000 0
ONedIXEEE i 5,000
SSHSAEFZH 20,000 150,000 A 130,000
401 A& BIZ 201 8I 20,000 150,000 A 130,000
01 A& HI 20,000 149,108 2 129,108




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAHOIE=E FHI 20,000
HEIAEZXER ZHAY 3,333,000 3,333,000 0
Xl 1,000,000
< 466,000
Al 1,867,000
401 Al HIZ 2018 3,333,000 3,333,000 0
Xl 1,000,000
< 466,000
Al 1,867,000
01 A& HI 3,324,025 3,324,025 0
OYEIAZ=EZ Z4dAS 3,324,025
X 1,000,000
< 466,000
Al 1,858,025
03 AIE 2 THHI 8,975 8,975 0
OZEAZ=ER ZEAY 204l
3,324,025,000& * 0.27% 8,975
ZeN=HH 29 310,000 500,000 190,000
307 21201 A 300,000 300,000 0
05 BIZHRI & 3 300,000 300,000 0
OZMSsHEH CI2tLIE A ALSHI 300,000
401 A& HIZ 201 Y| 10,000 200,000 A 190,000
01 A& HI 10,000 198,570 A 188,570
O=32MsdH ALEH 10,000
Eied 22 A MY 900,000 0 900,000
< 450,000
Al 450,000
401 AIEHI L 2 CHYI 900,000 0 900,000
< 450,000
Al 450,000
01 A& HI 894,365 0 894,365
Ot 2 & A A 894,365
= 450,000
Al 444 365
03 AlE R THHI 5,635 0 5,635
Ot =22 HEAE S0l
894,365,000& * 0.63% 5,635
B D41 E ZEAMY 1,900,000 0 1,900,000
X 570,000
< 266,000
Al 1,064,000
401 Al HI R 201 8] 1,900,000 0 1,900,000
Xl 570,000
< 266,000
Al 1,064,000




SH: AEZYH D
HE: MM SY

ol MR A ST - 22 (el:de)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2

01 Al&H| 1,900,000 0 1,900,000

OBMDA4DRY X4 1,900,000

Xl 570,000

o= 266,000

Al 1,064,000
HMSHAH(AZ=HH ) 62,831 60,003 2,828
ol A 26,991 24,163 2,828
ol 2AH| 26,991 24,163 2,828
101 2121 4| 26,991 24,163 2,828
03 2INHA=ZZ2XHE %= 26,991 24,163 2,828

Os&HINE 22l 22X B4 26,991

oJlga 1,282,830& * 1 » 128 15,394

oc&3 1,282,830 * 400% 5,132

o MAAHAXMHALY 160,000& * 19¥ = 12& 1,920

o M MF A 80,000 » 1H  12& 960

ol G 60,000& ~ 18 « 12& 720

cHIRIFIIE 74,9603 * 12 900

o d&AEF Y| 1,282,830& * 100% 1,283

o X 2IA | 22,709,000& = 3/100 682
Jl=23 bl 35,840 35,840 0
Jl23Hl 35,840 35,840 0
201 Bt 30,360 30,360 0
01 AtR 22l bl 30,360 30,360 0

ORBAMdE2Y JI=28l 6,600

o AIXLXI|IE 300,000& = 12& 3,600

o AT RAA 250,000& = 12& 3,000

OANEEE RU(BAMX S) 4,800

o AIXLX)|E 200,000& = 12& 2,400

o AZLIAA 200,000& * 12& 2,400

OMHHEARID] 228 2 7,200

o AEZX)|E 300,000& * 4CH = 23] 2,400

o AZLXY XN 300,000 * 2CH * 23] 1,200

o AT X AL 300,000 = 6CH * 23] 3,600

OZ &l 11,760

o AIEZLXI|E 7,000& * 10 = 72 * 128 5,880

O AL XAIA 7,000& * 109 = 7 = 12& 5,880
202 04| 1,280 1,280 0
01 2L Y| 1,280 1,280 0

OHl&AZ2 2o b 1,280
203 Y2 X Y| 4,200 4,200 0




A AZ=HMD
H: HH2IAH(AZ=HL)
e Jl=3l
S RE-LE il
04 22 4,200 4,200
ORN=2g 350,000& = 123 4,200
Heags(AZ=d N1 50,000 50,000
HEHH XK= 50,000 50,000
LHEAHH X = 50,000 50,000
02J1=8ES 50,000 50,000
01 JI=sdE= 50,000 50,000
OM=sdEII= 50,000




